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Annual Examination, 2022 (%) (B-1-4)
() TehIST (B-1-4) TefhIST
B.Sc. Part 1
Which of the following glycosidic linkage is
BIOTECHNOLOGY
found in maltose ?
Paper I

(a) Glucose (o-1-4) fructose

(Biochemistry, Biostatistics and Computer) (b) Glucose (o-1-4) glucose

e oo | MIAXIVIM MIARES : 59 (c) Galactose (B-1-4) glucose

e e O‘*ﬂ,ﬁbd SR Gl S g ‘3@, (d) Glucose (B-1-4) glucose
gﬁgg;qﬁ%@fﬁﬁ% () =1 ° @ =0 o fafue &1 e §2
Cad (31) T () ©Rige

Note : Section ‘A’ is Objective type and is compulsory. It (H) @ﬁﬁq’ﬁg (3) J g
should be written on the first page of Answer- Which of the following is an example of

book. Section ‘B’ is Short answer type and Section derived lipids ?

‘C’ is Long answer type. )
(a) Terpenes (b) Steroids

| ue 531.7 S t- ‘A’
(Section ‘A’) (c) Carotenoids  (d) All of these

i .
(Multi ?Ch i th' ) (iii) 79 9 I 3THH! 3T 2
uitipie otlce Questions
FHIfg (37) war (<) TemEEE
TE I Hl =9I : 1x10=10

(&) drefA (%) WA

Which of the following is an amino acid ?

Choose the correct answer :

() TS | 1 | 9 -9 Tegshifatesd s g
S & ?
(31) IS (0-1-4) RISt

(a) Alanine (b) Glycine
(c) Proline (d) Serine
PT.O. I-03/22
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(iv) —afreeh 3Tt @ <1 TR 30 UemeH 9S24 © ¢

(v)

(vi)

1-03/22

(37) Glelais () =TS
(W) fage () Teltehst

The ends of two strands of nucleic acids are

joined by this enzyme :

(a) Polymerase (b) Ligase
(c) Synthetase (d) Helicase
TSRS Yoo 7 § o § ¢
(1) HitEr () FHAH
(¥) GH (%) T

Glycogen synthesis is increased by :

(a) Cortisone (b) Insulin

(c) GH (d) Epinephrine

T 9 -9 Uf TeIshsT qe USIshisd qiHl
SRl | et § 2

CHRIRHESS (9) arEHd

COREIRIE] (?) faeged

Which of the following glands can be

classified as endocrine and exocrine both ?
(a) Thyroid (b) Thymus

(c) Pancreas (d) Pituitary

PT.O.
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(vii) 10 T&A13T 1 H1&F 20 ¥, If BH i 91 §

10 TS < a1 4t TS ol |71 81T ¢
() 20 ()0
(") 30 (¥) 10

Mean of 10 values is 20, if we add a value
10 in each observation then mean for the

new value will be :
(a) 20 (b) O
(c) 30 (d) 10

(viii) STel 1 Terhl hl Weh |1 ST STl & ol h1e off

(ix)

1-03/22

T2 A1 37 i Yif¥rehdr /=1 2l 2
(1) 0 (&) 1/2
(9) 1/4 (@) 1

When two coins are tossed together, then

probability of getting no tail is :

(@) O (b) 1/2
(c) 1/4 (d) 1
FHT 1 fehrat qife § arfiereon femanm o 2
(31) 3 () 4
(®) 5 (%) 6
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In how many generations a computer can be

classified ?

(a) 3 (b) 4
(c) 5 (d) 6

(x) =8 3 o erer TafhT & 3us § 2
() g= (9) B

(®) Higed 9 () faed
Which of the following is the product of data

processing ?

(a) Information (b) Data
(c) Software program

(d) System

Eus ‘'a’ (Section ‘B’)
g ITIT 997 3x5=15

(Short Answer Type Questions)

qe— |t ure wvd e €1 100 s8] § SR Sifew |

Note : All the five questions are compulsory. Word

limit 100 words.

1. HEEESE Tl SHThI0 GHSST |

Explain classification of carbohydrates.

I-03/22 PT.O.
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AT / Or

SETCEehIHISE ! HXHAT Ud 701 HHSST |

Explain structure and properties of triglycosides.

. ToTeH foan ol yanfod i ol hiehl ol 99 ahifeld |

Describe the factors affecting the enzyme action.
3AYdl / Or
IEH & YehR Tl i ehl0 HHASY |

Explain types and classification of proteins.

. Al W gfvra feoon fafe )

Write a short note on auxin.
YT / Or
TATShISHITH hi Ffshdl YHTET |

Explain the process of glycogenesis.

. Yfdead & YR THSE |

Explain types of sampling.
AT / Or

quf griereRdt W feooft fafem |
Write a note on total probability.

. P % HISH 1 FUMH hITI |

Describe organization of computer.

1-03/22
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AT / Or

PR het iy gHEmET |

Explain computer algorithm.
¥us ‘g’ (Section ‘C’)
g i 99T 5x5=25

(Long Answer Type Questions)

qAe— Gt ure yyA A €1 250 9 300 YIS H I
ifem |

Note : All the five questions are compulsory. Word
limit 250-300 words.

1. WcAdehze i T, YhR Td hd GHET |

Explain structure, types and functions of

polysaccharides.
AT / Or
ferftre =1 afiehtor el s THETEY |
Describe classification and functions of lipids.

2. TEeR TS SR it dohtiish Ud SUZNT ohl S0 ShifIT |

Describe the process of immobilization of enzyme

and their application.

1-03/22 PT.O.

[ 8]
Y4l / Or
WIS i TLEAT GHIET |

Explain structure of proteins.

. TR dTeh AT 1 IU i |

Describe electron transport chain.
HAYAT / Or
ATIRIEE BIHIAE i ==l hIfSU |

Discuss thyroid hormone.

. O fo=aad ol 993y |

Explain standard deviation.
AT / Or

TIfeRdl & TG 1 ITEL0 Ffed HHETET |
Explain the concept of probability with examples.

. TR & I1yan fafem |

Write applications of internet.

AT / Or
TS Ua HIRaR o fgT<1 Tremsy |
Explain concept of hardware and software.

VDOV CcVVOOY
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